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No. 1 2 3 4 a8it HIE
E F A CSRP GSRP GSRP GSRP GSRP [[=Yiva
1 % X8 *k  okkokk dokkk  kkk kkkk 17 8 P
2 ®E  #Bh * kk ok ok ok * * 8 13
3 Fk ME sk kkkk  dokk dkkk x x 1] 8 P
4 BB ® * * 2 18
b I\KEZE bk KRKK KKK KRRk kkkk kkkk 20 1 P
6 Rk FF— * ok 3 19
7 EBT #%H— %k kkokk okkok kkkk kkkk 18 T P
9 85 — * % * 3 15
10 =8 f#% shkkk ok kkkk kkk dkkk 15 11 P
11 hIg  FRE 0 21
12 {RiE R * %k Kk ok kkkk kkkk kkkk 17 8§ P
13 )l —== * ok * 3 15
14 BEL #E sokkok kokkk kdkokk kkkk kkk 19 5 P
16 NEFF B * 1 20
16 B0 X% sokokk kkokk kokkk kkkk kdkkk 20 1 P
17 Rk O ok xxk 5 14
18 [y H— skkk skkkk kkkk kkkk kkkk 200 1 P
20 28 R * * ok skkkk %k kk * 11 12 P
21 &k 3] sokkok KRRk kdokk dokkk kkkk 200 1 P
22 WLiE & sfokk ckkk  kkkk kdkokk kkkk 19 B P
23 PER HK * * 2 18

TIRE = 1

skl [ EEIREE ] skklkkekk

No. 1 2 3 4 5 &F HIFE
E F 4 CSRP CSRP CSRP CSRP CSRP N2
1 ¥ B3 * % * *x % 5 9
3 Rk = * ok sokokok 6 8
b )\KEZE bk sokkok kR kokkk kkkk kkkk 20 1 P
71 HZBH #H— kKKK Kk K kkkk ¥ % 13 5 P
10 =28 @ ook * 4 10
12 1k RE * * sk kkk 9 T
14 EE #BE sokkk Kok k% %% 11 6P
16 B§O Xi¥ solokk ok K sfokokok xxx 14 4P
18 [y H— sfokkk fokkk dokkok dkkkk kkk 19 2 P
20 28 R * Hok 3 1
21 1k sokkok ok kk sfokok * xkxk 15 3P
22 Lig & * 1 12
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NO. #E F 4 1 2 3 4 5 JEf

i B Cha cha
b N\KE R 4 2 2 2 2 20
7 HEHW #H— 6 3 5 6 4 55
14 BE #8 3 6 6 4 5 55
16 BEEA Xi* 5 5 3 5 3 4.0
18 A%y H— T 1 1 1 1 1.0
21 tkiE 2 4 4 3 6 3.0

7 H Samba
b N\KE R 4 2 3 2 2 20
7 HEHEW #H— 6 3 5 5 3 50
14 BE #£8 3 6 6 3 6 6.0
16 BEEA Xi* 5 5 2 4 4 4.0
18 A%y H— 2 1 1 1 1 1.0
21 tkiE 1 4 4 6 5 3.0

7 H Rumba
b N\KE R 5 2 2 2 2 20
7 HEHEW #H— 6 3 5 4 4 50
14 BE #£8 3 6 6 5 5 6.0
16 BEEA Xi* 4 5 3 3 3 3.0
18 ¥y &H— T 1 1 1 1 1.0



21 k& #0 2 4 4 6 6 4.0
8 H Paso doble

5 \KE ZHE 4 2 3 2 2 20
7 HHW #H— 6 4 5 6 5 6.0
14 Bt #£5 3 5 6 4 4 50
16 QO X% 5 6 2 3 3 3.0
18 A8y %=H— 2 1 1 1 1 1.0
21 &% 1 3 4 5 6 4.0
& H Jive
5 N\KE Lt 4 2 3 2 2 20
7 HHW #H— 5 5 5 5 4 50
14 Bt #£5 6 6 6 6 6 6.0
16 B KX* 3 3 2 3 3 3.0
18 ¥y H— 1 1 1 1 1 1.0
21 &% 2 4 4 4 5 4.0
No. = F 4 C S R P J &t B
b NKE R 2.0 20 2.0 2.0 2.0 10.0 2.0
7 HEHEW t#H— 5.5 5.0 5.0 6.0 5.0 26.5 5.0
14 BE #8 5.5 6.0 6.0 5.0 6.0 28.5 6.0
16 BEA Xi* 4.0 4.0 3.0 3.0 3.0 17.0 3.0
18 A%y &H— 1.0 1.0 1.0 1.0 1.0 50 1.0
21 tkiE 3.0 3.0 4.0 4.0 40 18.0 4.0
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EES ERESE R E F K 4% N—b+bF—4% /B B # c S R P
1 11030269 A i XA k& SRl B OB ZERES
2 11035331 B HEp #aA g pL<F B O 1FE
3 11040415 A {FE FME F W B H HERBG
4 11060073 B E#E & B ¥ B OH 1 FiE
5 11020176 A J\KEZE ZRHE g = B H g2 2.0 2.0 2.0 2.0
6 11030202 B {#iE M— #]/AR TR B OH 1 FiE
7 11070453 A B #Hh— Bma EF B H 54 55 50 50 6.0
8 11054884 A 5K #H— B EF B O R 15
9 11040563 B #5K 1Hf— /K EF - 1%
10 11020019 A =FEH {ER KK TULF B O HEREG
11 11064271 B /ME  #Ri%& 5H EXF B H 15&
12 11050144 A {FE RF BR (H B OB ERE
13 11050222 B #E)l —== =g #F L 158
14 11070209 A ELE #E EEt FKE B OH g6z 5.5 6.0 6.0 5.0
15 11040433 B /N¥ssF [E# fIER HEEF B H 1FE
16 11020129 A O KX; O ~F B O ¥T34i 40 40 3.0 3.0
17 11050277 B {Fig i #]|RK EF B H 15:&E
18 11030277 A H[EF &H— ¥ &% B O 14 1.0 1.0 1.0 1.0
19 11060053 A AL BA WHE #F B f R 5
2 0 11054068 B 21 R 2E B B O AR
21 11050404 A 1£i& ) k. fMEF B f T44r 3.0 3.0 4.0 4.0
22 11036632 B LiZF & BH BF B OB ERE
2 3 11026668 B P& X fIER  WF B OH 1FE



